UNIT 12: WATER SPORTS

TEST 1

A. PHONETICS 

I. Pick out the word whose Underlined part is pronounced differently from that of the others. 

1. A. played 


B. marked 

C. managed 

D. penalized
2. A. caps 


B. posts 

C. players 

D. roofs
3. A. high 


B. swimmer 

C. divide 

D. still

4. A. ball 


B. cap 


C. hand 

D. happen 
5. A. post 


B. hold 

C. overtime 

D. movement

II. Pick out the word that has the stress pattern different from that of the others. 

6. A. crossbar 


B. goalie 

C. swimming 

D. advance

7. A. between 


B. eject 

C. allow 

D. minor

8. A. committee 

B. penalize 

C. continue 

D. dependent

9. A. referee

 
B. decision 

C. division 

D. defensive

10. A. prevent 


B. except 

C. happen 

D. create

B. VOCABULARY AND STRUCTURE

I. Choose the most suitable word or phrase (A, B, C or D) to complete each sentence.

11. Air consists of a combination of nitrogen and oxygen..... in place by gravity.

 A. held 


B. being held 

C. are holding 

D. holding 

12. They........all day swimming and sunbathing at the beach.

 A. spent 


B. used 

C. passed 

D. occupied

13. The fans climbed over the fence to paying.

 A. refuse 


B. avoid 

C. prevent 

D. abandon

14......... people who live in Holland are called.....Dutch.

 A. Ø – the – Ø 

B. The – Ø – Ø 
C. The – the – Ø 
D. Ø – the – the
15. Men........in sports than women do. . .

 A. are more interesting 



B. look more interested

 C. have greater interest 



D. take more interest 

16. Sports medicine is a medical specialty that deals with the identification andj treatment of injuries to persons.........

 A. sports are involved 



B. they are involved in sports

 C. involved in sports 




D. sports involve them

17. It was clearly a (an)........Jones kicked him after he'd passed the ball.

 A. mistake 


B. foul 

C. error 

D. fault

18. No player........the goalie can hold the ball.

 A. except 


B. apart 

C. without 

D. beside

19. In water polo, the goal is........by vertical posts, a crossbar and a net.

 A. scored 


B. marked 

C. written 

D. given

20. A game is divided into quarters ranging from five to eight minutes......

 A. on length 


B. by length 

C. in length 

D. with length

21. Susie refused to ...... in the race.
 A. take place 

B. participate 

C. take part 

D. B or C
22.........variety of water sports played by many young men nowadays.

 A. A wide 


B. Is there 

C. Many 

D. There is a wide

23. They talked for three days before finally ...... to a decision.

 A. reaching 


B. coming 

C. arriving 

D. making

24. The manager expected the team........because they hadn't done enough training.

 A. to lose 


B. to have lost 
C. to be lost 

D. losing

25......... ten minutes of the start of the game two players had been sent off.

 A. Before 


B. Around 

C. Within 

D. Inside

II. Choose the underlined part among A, B, C or D that needs correcting.

26. (A) The scientific evidence (B) proved him (C) be (D) guilty.
27. (A) No one (B) knows where (C) the disease (D) originated in.
28. Dr. Adams (A) argues that house prices (B) will fall, but (C) other economists believe that the opposite (D) true. 
29. (A) Adult education has become (B) increasing popular in (C) the United States (D) in recent years.

30. (A) One out of (B) every eight balloons in the world (C) are launched (D) at Albuquerque, New Mexico.

III. Choose the correct sentence among A, B, C or D which has the same meaning as the given one.

31. We didn’t 't expect you to wait.
 A. You needn't have waited. 



B. You needn't wait.

 C. You didn't need to wait. 



D. You didn't have to wait.

32. People say the some Americans are superficially friendly.
 A. Some Americans are said that they are superficially friendly.

 B. People are said that some Americans are superficially friendly.

 C. Some Americans are said to be superficially friendly.

 D. Some Americans are said being superficially friendly.

33. She wants someone to make her new dress. 
 A. She wants a new dress to be made for her.
B She wants to have someone made a new dress.

 C. She wants a new dress to be made by someone.
D. She wants to have a new dress made.

34. The waiting room is empty.
 A. There is not a thing in the waiting room.

B. There is no one in the waiting room.

 C. There is emptiness in the waiting room. 

D. It is empty in the waiting room.

35. It's easy to grow vegetables.
 A. Vegetables are easy to grow. 


B. Growing vegetables are easy. 
 C. To grow vegetables are easy. 


D. Vegetables grow easily.

C. READING

I. Read the passage below and decide which answer (A, B, C or D) best fits each space.

  As well as being a necessary life-saving skill, swimming also (36)........ us with a source of great pleasure and relaxation. Swimming, as well as other water sports like diving, surfing or just floating on your back, are some of the best ways to have (37)........and keep fit at the same time. Water sports are enjoyable for people of (38)........ages and even babies can learn to swim. For elderly people or (39)........ with physical handicaps, swimming provides gentle, yet effective exercise, Swimming for fitness and recreation has been popular (40) ....... the earliest times, for instance in ancient Egypt, Greece and Roma. Swimming competitions developed in the nineteenth century and swimming races were (41)........in the first of the modern Olympic Games in 1896. Now water sports are (42)........all over the world and most towns have at least one swimming pool. Most water sports - swimming, surfing and water-skiing, etc, take (43).......on the surface of the water, but scuba divers explore deep below the waves. There they can find fascinating sea creatures and strange rock formations. Some archaeologists are divers (44)........ search the seabed for wrecks of ships sunk hundreds of years ago which (45)........objects that show how people lived in ancient times.

36. A. provides 

B. gives 

C. offers 


D. delivers

37. A. happiness 

B. pleasure 

C. fun 



D. delight

38. A. every 


B. all 


C. both 


D. either

39. A. who 


B. that 


C. those 


D. these

40. A. in 


B. for 


C. within 


D. since

41. A. included 

B. consisted 

C. presented 


D. mentioned

42. A. made 


B. practised 

C. tried 


D. drilled
43. A. part 


B. place 

C. time 


D. up

44. A. who 


B. that 


C. they 


D. Ø
45. A. include 


B. exist 

C. have 


D. contain

II. Read the passage below and choose the best answer (A, B, C or D) to each question.
  The excitement of snorkelling in a clear tropical sea is hard to explain to someone who hasn't done it. If you expect to have the opportunity of trying it when on holiday, it is well worth bringing a snorkel if you can get hold of one. Experts now recommend a separate breathing tube.

  Many swimmers take a deep breath before diving with a snorkel. This is a mistake, because it makes the body so light that you dive with difficulty. It is best to take a couple breaths and then a normal relaxed breath in order to breathe in enough for dive. Don't take repeated deep breaths before diving because this can lead to shortage of oxygen, which causes unconsciousness without warning. 

  The backs of many snorkellers get badly burnt, for the snorkellers are so involved in the world below they forget about the dangers of sunburn. The sea does not protect your back from the rays of the sun, and it is best to 
wear a T-shirt. Snorkellers should also consider wearing shoes (or slippers), which may protect their feet from cuts from sharp rocks which can easily become infected.

46. What does the writer find difficult about snorkelling?

 A. doing it in tropical seas 


B. explaining the technique to a beginner

 C. describing how exciting it can be 
D. doing it for the first time

47. A swimmer should........before diving with a snorkel.

 A. take a deep breath 


B. take two deep breaths

 C. take repeated deep breaths 

D. take much physical exercise

48. Why is taking a deep breath before diving a mistake?
 A. You will not be able to dive deeply enough.

 B. You will not be able to float properly.

 C. You will use up too much oxygen.

 D. You will lose consciousness.

49. Snorkellers should wear shoes while diving.........

 A. to protect their feet from cuts from sharp rocks 
 B. to protect them from the rays of the sun

 C. in order not to become infected

 D. in order not to lack oxygen

50. The general impression of snorkelling the writer gives is that.........

 A. it is extremely dangerous

 B. many people who do it suffer from oxygen shortage

 C. you have to buy special clothes in order to do it

 D. most swimmers can learn to do it 
***********************

TEST 2

A. PHONETICS

I. Pick out the word whose underlined part is pronounced differently from that of the others. 

1. A. though 


B. there 

C. both 


D. breathe

2. A. mark 


B. award 

C. crossbar 


D. hard

?. A. team 


B. head 

C. sea 



D. least
4. A. awarded 


B. ranged 

C. continued 


D. moved
5. A. except 


B. cap 


C. cross 


D. create

II. Pick out the word that has the stress pattern different from that of the  others. 

6. A. water 


B. major 

C. penalty 


D. award

7. A. personal 


B. suggestion 

C. period 


D. dangerous

8. A. equipment 

B. synchronize 
C. participant 


D. athletic 
9. A, appropriate 

B. competition 
C. individual 


D. international

10. A. perform 

B. swimming 

C. attract 


D. complete

B. VOCABULARY AND STRUCTURE

I. Choose the most suitable word or phrase (A, B, C or D) to complete each sentence. 
11. Defensive players are not allowed with the opponent's movements unless the player is holding the ball.

 A. interfering 


B. to interfere 

C. to interfering 

D. interfere

12. He has........three goals in succession.

 A. won 


B. got 


C. scored 


D. obtained

13. The thick fog...........us from driving.
  A. made


B. caused  

C. banned


D. prevented
14. The children were .......into small groups. 
  A. divided 


B. separated 

C. split



D. torn
15. Please wait here ...........we finish work. 
  A. when 


B. as soon as  

C. if



D. until

16. We were relieved to see that order ........... in the town.

  A. has been restored 

B. was restored
C. had been restored

D. would be restored

17. ........in Shanghai than in any other city in China.

 A. It has more people 



B. More people live

 C. There are more people live 


D. More living people

18. He was very upset by the........of his team.

 A. failure


B. effect 

C. decline 

D. success
19. If you're not too tired we could have a..... of tennis after lunch.

 A. game


B. play 

C. party 

D. match

20. The train was........by a heavy snowfall.

 A. called in 


B. put out 

C. cancelled 

D. given off

21. Peter Owen hopes he'll be fit enough to ........the game tomorrow.

 A. take a part in 

B. take part in 

C. take place in 
D. take a role in

22. She got so ...... while watching the match on TV that she began shouting.
 A. excited 


B. exciting 

C. excitingly 

D. excitedly

23. Next summer, we're ........a swimming pool built in our school. 
 A. making 


B. deciding 

C. having 

D. setting

24. Snooker is a very popular ........sport in Britain. Most of the major tournaments are televised.

 A. viewed 


B. spectacle 

C. audience 

D. spectator

25. ........all citrus fruit originated with the Chinese orange.

 A. That the belief 

B. It is believed that
C. To believe that 
D. The belief that

II. Choose the underlined part among A, B, C or D that needs correcting. 

26. Solar cells (A) convert (B) sunlights, (C) directly into (D) electrical energy.

27. The science and technology (A) industries (B) have grown them (C) steadily over  (D) the last decade. 
28. Communication satellites (A) can be either (B) launched by rockets or (C) carry into space (D) by space shuttles. 

29. Norma Jean Baker (A) was the (B) real name of the (C) famous Hollywood actress (D) know as Marilyn Monroe.

30. Weather satellites have (A) made possible (B) to predict the weather (C) with (D) much greater accuracy.

III. Choose the one option (A, B, C or D) corresponding to the best sentence that is made up from the sets of words and phrases given.

31. office / break / I / be / holiday
 A. My office was broken into when I was on holiday.

 B. My office broke into when I was on holiday.

 C. My office is broken into when I was on holiday. 
 D. My office was broken into when I am on holiday.

32. they / install / new computer system / next month
 A. They're installing the hew computer system next month.

 B. They install the new computer system next month.

 C. They're installing new computer system next month.

 D. They will been installing the new computer system next month.
33. he / pause / moment 
 A. He paused for only few moments. 

B. He paused for a few moments. 
 C. He paused for a few moment. 


D. He passed for a little moments,.

34. he /smoke /since /10
A. He has smoked since he was 10. 


B. He has smoked cigarettes since he was 10.

C. He smoked since he was 10. 


D. A and B are correct.

35. she /find / embarrass / situation
 A. She found the situation embarrassed.

B. She found herself in an embarrassed situation.

 C. She found herself in an embarrassing situation.
D. She found herself an embarrassing situation.

C. READING

I. Read the passage below and decide which answer (A, B, C or D) best fits each space.
  Experiments have proved that children can be instructed in swimming (36) ........ a very early age. At a special swimming pool in Los Angeles, children become expert at (37)........their breath underwater even before they can walk. Babies of two months old do not appear to be (38)........enter the water. It is not long (39)........ they are so accustomed to swimming that they can (40) ....... up weights from the floor of the pool. A game that is very popular (41) ........ these young swimmers rs the underwater tricycle race. Tricycles are lined up on the floor of the pool seven feet under water. The children (42) ....... against each other to reach the other end of the pool. Many pedal their tricycles, but most of them (43) ........ to push or drag them. Some children can cover the whole (44) ....... of the pool without coming up for breath even once. Whenever they will ever become future Olympic champions, only time will tell. Meanwhile, they (45) ........ encourage those among us who cannot swim five yards before they are gasping for air. 
36. A. in 


B. at 


C. on 



D. within

37. A. keeping 

B. holding 

C. compressing 

D. getting

38. A. reluctant 

B. hesitant 

C. doubtful 


D. suspicious

39. A. ago 


B. since 

C before 


D. then

40. A. look 


B. put 


C. take 


D. pick

41. A. to 


B. with 

C. for 



D. among

42. A. compete 

B. struggle 

C. play 


D. defeat

43. A. prefer 


B. would rather 
C. had better 


D. involve

44. A. border 


B. form 

C. length
 

D. distance

45. A. ought 


B. have to 

C. need 


D. should

II. Read the passage below and choose the best answer (A, B, C or D) to each question.
BUNGEE JUMPING
   Have you ever heard of bungee jumping? To do a bungee jump you jump from a high bridge, or some other high place, with just a rubber rope tied around your ankles. When the rope goes as far as it can, you are pulled back towards the bridge. Then you fall down and come up again. This goes on again and again until the rope finally stops moving and you hang in the air, upside-down. Then you are pulled back up to the bridge. If there is a river below the bridge, you will be allowed to reach the water slowly, where a boat picks you up. The first bungee jump took place in Queenstown, in New Zealand, on 12 November 1988. Since then, almost half a million people have tried it and Queenstown has become famous for it. More than 90% of the people are on vacation there. Many of the tourists have come just to do the bungee jump. It has become such a popular event that you can now bungee jump in many countries around the world.

  The reason for its popularity is that it is so very exciting. It isn't very often that people get the chance to jump off a bridge and survive! People pay US$ 85 for the experience. Another reason is that it is quite safe if the correct rope is used and checked regularly. 
  However, there have been accidents (though not in New Zealand) when the rope broke. There's not much chance of surviving the fall if this happens, and some deaths have been reported. 
  Bungee jumping first started a long time ago, in the Polynesian islands in the Pacific Ocean. The young boys there had to jump from a tall tower with a rope made from plants tied around their ankles. They did this to show that they were brave enough to become men.

46. In a bungee jump ........ 
 A. you climb up a long robe to a bridge

 B. you jump off a bridge to help a person who has fallen into the river

 C. you jump into a river and then climb onto a boat

 D. you jump from a high place towards a river

47. More than 90% of all the people 

 A. in Queenstown are there on holiday 

 B. in Queenstown have done a bungee jump 

 C. on holiday in Queenstown have done a bungee jump .

 D. who have done a bungee jump did it in Queenstown

48. Why do so many people like bungee jumping?
 A. Because it is very exciting.
B. Because it costs only US$ 85.





 C. Because it is safe.


D. Because they want to show they are brave enough to become men,

49. Where can you do a bungee jump now?

 A. Only in Queenstown 



B. Only in New Zealand

 C. In a number of different countries 

D. On a Polynesian island

50. Which of these statements is NOT TRUE?
 A. There have been a few accidents with bungee jumping.

 B. Even if the rope breaks, it's quite safe.

 C. A few people have died while doing bungee jumping.

 D. There have been no bungee jump accidents in New Zealand.
UNIT 13 - THE 22nd SEA GAMES

TEST 1

A. PHONETICS
I. Pick out the word whose underlined part is pronounced differently that of the others. 
1. A. host 


B. who 


C. gold 


D. compose

2. A. peace 


B. great 


C. increase 


D. team

3. A. hosted 


B. impressed 


C. finished 


D. watched

4. A. sports 


B. enthusiasts 


C. games 


D. thanks
5. A. player 


B. perform 


C. spectator 


D first

II. Pick out the word that has the stress pattern different from that of the others.

6. A. event 


B. prepare 


C. impress 


D. volley

7. A. participate 

B. technology 


C. organize 


D. successful

8. A. solidarity 

B. delegation 


C. successfully 

D. energetic

9. A. include 


B. region 


C. football 


D. medal

10. A. precision 

B. excellent 


C. countrymen 

D. following 
B. VOCABULARY AND STRUCTURE

I. Choose the most suitable word or phrase (A, B, C or D) to complete each sentence.

11. I'll never forget........that race. What a thrill!

A. win 



B. to win 


C. winning 


D. being won

12. By far........ of Saudi Arabia is oil.

 A. it is the-most important export 



B. the most important export is

 C. that is the most important export 



D. the most important export

13. She walked to the side of the swimming pool and...... .
 A. jumped in 

B. dived 



C. went down 


D. leaned 

14. They told me he had........a gold medal in wushu. 

 A. won 


B. scored 


C. gained 


D. got

15. It's getting more........to find a cheap apartment.

 A. hardly 


B. and more difficult

 C. the most difficult 

D.1 and very different

16. ........people go to football matches now than twenty years ago.

 A. Less 


B. Lesser 


C. Fewer 


D. Few

17. His performance was.......the audience was delighted.

 A. unmarked 

B. worthless 



C. faultless 


D. imperfect

18. He was very upset by the ...... of his English examination.
 A. failure 


B. effect 


C. consequence 

D. result

19. He played an active .......in politics until he was well over 80.

 A. scene 


B. job 



C. position 


D. part

20. The faster Thanh walks ...... 
 A. more tired 

B. the more tired he gets 
C. he gets tired 

D. he gets more tired

21. Despite her undoubted ability at tennis, she never became the..... of the local tennis club.

 A. member 


B. partner 


C. champion 


D. winner

22. It's hardly........that they lost the game.

A. surprising 


B. surprised 


C. surprise 


D. surprisingly

23. The Pacific Crest Trail is American's ...... 
 A. the long footpath 





B. longest footpath

 C. footpath the longest one 




D. the longest footpath

24. He asked me ...... the film called "Skit Wars".

 A. have I seen 

B. if had I seen 

C. have you seen 

D. if I had seen

25. Could you talk ......? I'm trying to work.

 A. quiet 


B. more quiet 


C. quieter than 

D. more quietly
II. Choose the underlined part among A, B, C or D that needs correcting.

26. (A) Most babies will grow (B) up to be as (C) cleverer as their (D) parents.
27. It should not be (A) assumed that (C) the low the price, (D) the happier the buyer.

28. The Victorian constructions of Haight-Ashbury (A) are among the (B) fewer architectural (C) survivors of the San Francisco earthquake (D) in 1906.
29. (A) The harder Sylvia tries, less she succeeds.

30. (A) This has been the best day than my whole life.
III. Choose the correct sentence among A, B, C or D which has the same meaning as the given one.

31. The older he grew, the more forgetful he became.

 A. He grew older when he became more forgetful.

 B. He became more forgetful and older.

 C. As he grew'older, he became more and more forgetful.

 D. He grew older and more and more forgetful.

32. Your car is more expensive than mine. 
 A. My car isn't cheap as yours. 


B. Your car is not cheaper than mine.

 C. My car is as expensive as yours. 

D. My car is not as expensive as yours.

33. Mr. Bridges is by far the richest man I know.
 A. Mr. Bridges is much richer than anyone else I know.  B. Mr. Bridges is one of many very rich men I know. 

 C. Mr. Bridges is richer than all his friends. 

D. Mr. Bridges is the richest man in' my country.

34. Twenty years ago this region produced twice as much coal as it does now.
 A. Coal production in this region has been halved in theiast twenty years.

 B. Coal production in this region has doubled in the last twenty years.

 C. More coal is produced now in this region than twenty years ago.

 D. This region has produced more coal now than twenty years ago.

35. The patient recovered more rapidly than expected.
 A. The patient didn/t recover as fast as expected.

 B. The patienf rhaae a more rapid recovery than expected.

 C. The patient recovered more slowly than expected.

 D. The patient didn't get well as expected. 
C. READING

I. Read the passage below and decide which answer (A, B, C or D) best fits each space. 

A MATCH REPORT
 "This is an entirely fantastic match. We have (36)........ ninety minutes and there are three minutes of stoppage time to play. The (37)........is France 3 - Spain 3. If it (38)........ like this, there will be extra time and (39) ........, that doesn't produce a winner, it will go to penalties. Right from the kick-off both (40)........ attacked and with so many chances created it was incredible that (41)........ was only one goal in the first half. That was scored by France - a brilliant shot by Thierry Henry. The Spanish (42) ........must have said something to his players at half-time because in the second half they were on (43)......... They scored three times in twenty minutes, two for Raul and one for Sergi. (44)........France came back. Zidane made it 2-3 and then a fantastic goal by Pires (45)........the scores again.

36. A. done 

B. played 

C. made 

D. entered 

37. A. goal 

B. score 

C. figure 

D. number

38. A. does 

B. is 


C. keeps 

D. stays

39. A. until 

B. as 


C. if 


D. when

40. A. members 
B. bands 

C. groups 

D. teams

41. A. this 

B. that 


C. there 

D. it

42. A. coach 

B. referee 

C. trainer 

D. supervisor

43. A. fire 

B. blame 

C. light 

D. flame

44. A. Because 
B. But 


C. After 

D. Although
45. A. balanced 
B. abandoned 

C. demolished 
D. levelled
II. Read the passage below and choose the best answer (A, B, C or D) to each question. 

 Before any period of exercise it is well worth spending two or three minutes warming up with a series of simple stretching exercises. This not only helps your joints to move easily but also prepares all your major muscle groups for more energetic activity. It is rather like a cat stretching itself before it springs into action. Here are four movements to do in an easy and unhurried way, gently stretching each action without forcing it. Repeat each movement ten times, breathing normally throughout.

 i. Standing with your feet apart, push both arms out straight in front of you, fingertips touching. Raise them above your head, then down to the sides pushing each arm backwards at the same time.

 ii. Stand with your feet apart and hands on hips. Tip your head back and look straight up to the ceiling. Roll your head round slowly to face the right, then the floor, then the left, and finally up at the ceiling again.

Repeat in the other direction.

 iii. Standing with your feet apart and hands on your sides, lean first to the right and then to the left, sliding the hand down the side of the leg. 
 iv. Standing feet apart and arms out straight in front, with your eyes fixed on your right hand, swing your right arm round to the right, keeping it straight, as far as it will go. Return it to the front and repeat with the left arm. 
46. Why should you do these exercises?
 A. to stretch joints 





B. to develop control of movement 

 C. to strengthen muscles 




D. to prepare for physical activity

47. Spending two or three minutes warming up with a series of simple stretching exercises helps you.........
 A. adjust your joints 





B. strengthen your muscles

 C. do more outdoor activities  



D. use your damaged muscles

48. How should these exercises be carried out?

 A. with pauses, taking 10 breaths between each one 
B. continuously for two or three minutes

 C. steadily and slowly, breathing evenly 


D. as energetically as possible
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49. Which set of pictures shows you how to do exercise i? 
 A. set 1 


B. set 2

C. set 3 


D. set 4

50. Which set of pictures shows you how to do exercise iii? 
 A. set 1 


B. set 2 
 
C. set 3 


D. set 4
******************

TEST 2

A. PHONETICS

I. Pick out the word whose underlined part is pronounced differently from that of the others.

1. A. event 


B. wrestling 


C. determine 


D. present

2. A. result 


B. success 


C. such 


D. jump

3. A. term 


B. goal-keeper 

C. furnish 


D. third

4. A. presented 

B. organized 


C. performed 


D. prepared
5.. A. prove 


B. propose 


C. open 


D. opponent

II. Pick out the word that has the stress pattern different from that of the others.  

6. A. success 


B. spirit 


C. prepare 


D. amaze

7. A. outstanding 

B. Vietnamese 

C. proposal 


D. athletic

8. A. admiration 

B. delegation
 

C. competitor 


D. international

9. A. wushu 


B. talent 


C. tennis 


D. compete

10. A. support 


B. sporting 


C. title 



D. training

B. VOCABULARY AND STRUCTURE

I. Choose the most suitable word or phrase (A, B, C or D) to complete each sentence.

11. Our team didn't play........ I expected. I was disappointed.

 A. as well as 


B. as badly as 


C. well 

D. better

12........., Jesse Owens won four gold medals at the 1936 Olympics in Berlin.

 A. Excellent speed and running ability 


B. The outstanding track athlete runs . 

 C. An outstanding track athlete 



D. He had excellent speed and running ability

13. The football match was so boring that most of the........left at half-time.

 A. crowd 


B. audience

 
C. onlookers 

D. viewers
14. We were most........with the quality of his work.

 A. impressed 

B. influenced 


C. effected 

D. drawn 
15. Thank you! That's........I've ever received.

 A. the nicer gift 

B. nicest gift 


C. a nice gift 

D. the nicest gift

16. The 22nd SEA Games were successful, both........ quantity and quality.

 A. in terms of 

B. by means of 

C. in favour of 
D. for

17. Some teams are of top competitors in the region.

 A. consisted 


B. composed 


C. contained 

D. included

18. Assembly lines are useful for producing a large........of identical products.

 A. quantity 


B. quandary 


C. quality 

D. qualification

19. He is........to play any sports.

 A. incapable 

B. impossible 


C. unable 

D. not capable

20. The salary of a bus driver is much higher.........

 A. than a teacher 





B. comparing with a teacher

 C. than that of a teacher
 



D. to compare as a teacher
21. It is a great........that,the exhibition wa£ cancelled at the last minute after all your work. 
 A. sorrow 


B. pity 



C. complaint 


D. sadness

22. After the campaign a special medal was .......to all combatants.

 A. awarded 


B. deserved 


C. earned 


D. gained

23. I can't stand this weather. It's getting......... .

 A. more and more 





B. hotter and hotter 
 C. worse and worse 





D. B or C
24. How many countries will be ......... in the next SEA Games?
A. participating 

B. taking role 


C. taking part 


D. A or C
25. Staying in a hotel costs ......... renting a room in a dormitory for a week. 
 A. twice more than 

B. twice as much as

 C. as much twice as 

D. as much as twice
II. Choose the underlined part among A, B, C or D that needs correcting.

26. Patrick doesn't run (A) quickly (B) as Lee, (C) but he can run (D) farther.

27. (A) The (B) more I practise the piano, the (C) most (D) skilled I get.
28. Today (A) seems as (B) hot as yesterday, but (C) the humidity is (D) low.
29. What's (A) the (B) more (C) popular of all the (D) new TV shows? 
30. Our (A) new car is (B) hard to drive (C) than our (D) old one.

III. Choose the one option (A, B, C or D) corresponding to the best sentence that is made up from the sets of words and phrases given.

31. Melanie / kindperson / I know
 A. Melanie is the kindest person I've known.    B. Melanie is one of the kindest person I've known. 
 C. Mefanie is a kindest person I've known.      D. Of all the persons I've known, Melanie is a kindest person. 

32. if / leave / late / seven / we / get caught / rush hour
 A. If we leave late as seven, we'll get caught in the rush hour.

 B. If we leave any later than seven, we'll get caught in the rush hour.

 C. If we leave later seven, we'll get caught for the rush hour.

 D. If we leave later as seven, we'll get caught in the rush hour.

33. high / price / reliable / product
 A. The high price, the more reliable the product.

 B. The higher the price, the more reliable the product.

 C. The higher the price, the reliable the product.

 D. The high the price, the more reliable the product.

34. country / rapid / lose / workers / as / people / emigrate
 A. The country is rapidly losing workers, as more people and more people are emigrating.

 B. The country is rapidly losing its workers, as more and more people is emigrating.

 C. The country is rapidly losing its workers, as more and more people are emigrating.

 D. The country is rapidly lost its workers, as more and more people are emigrating.

35. I / just get / confused
 A. I'm just getting more and more confusing.

B. I'm just getting confusing.

 C. I'm just more and more getting confused. 

D. I'm just getting more and more confused. 
C. READING

I. Read the passage below and decide which answer (A, B, C or D) best fits each space.
SPECTATOR SPORTS
 A surprising number of popular spectator sports, for example football or baseball, (36) ........in Europe or the USA in the nineteenth century. This did not happen by chance. It was the result of changes in the (37) ....... people lived in those places at that time. Until then more people lived in the country than in towns. They worked in small groups and had no regular time off. All this (38)........ with the growth of factories and industry in the nineteenth century, first in Europe and (39)........in the USA. For the first time most people began to live in towns, and they (40)........themselves with regular free time. They had more leisure time than (41)........before. This resulted (42) ........ the need for organised entertainment. Suitable games developed or were invented, typically team games, in which the crowded could (43)........sides and become involved. This gave people some of the entertainment they need in their free time. The recent explosion in TV, with the introduction of satellite and cable channels, has (44)........an increase in demand for sports as entertainment. The money TV has brought to games such as football, tennis and. baseball (45).........that spectator sports will certainly go on playing an important part in our lives.

36. A. started 


B. arose 


C. appeared 


D. existed

37. A. way 


B. style 


C. method 


D. manner

38. A. transformed 

B. turned 


C. changed 


D. altered

39. A. next 


B. then



C. second 


D. finally
40. A. presented 

B. realised


C. noticed 


D. found
41. A. previously 

B. only



C. just 



D. ever
42. A. from 


B. in



C. by 



D. with
43. A. choose 


B. decide


C. take 


D. have
44. A. caused 


B. made


C. resulted 


D. given
45. A. calls 


B. says



C. means 


D. states
II. Read the passage below and question choose the best answer (A, B, C or D) to each question.
INDOOR FOOTBALL
Have you ever heard of indoor football or five-a-side football? It's played in almost all countries in the world. The top three countries are Italy, Spain and Brazil; Countries such as Thailand, Malaysia and Singapore are in the top thirty. England is in sixty-sixth place. 
 There are five players in a team but they can change players at any time during the game. Each side can have seven players "on the bench", waiting to come into the game. Each game has two halves. Each half lasts twenty minutes with a fifteen-minute break at half-time. The team which scores the most goals wins the game. 
 The game is played inside a building with a roof so weather is not a problem. The playing area is not always the same size. The smallest area is fifteen metres by twenty-five metres. The largest is twenty-five metres by forty-two metres.
46. Why is the game called "five-a-side football"?
 A. Because it's played in almost all countries of the world.
B. Because it's played inside a building.

 C. Because there are five players in each team.. 

D. Because it's different from regular football.

47. Which of these is NOT in the top thirty teams in the world for indoor football? 
 A. Brazil 


B. England 

C. Thailand 


D. Italy

48. How many players can a team have, including those on the bench? 
 A. five 


B. seven 

C. nine 


D. twelve

49. How long do the teams play in each game?
 A. fifteen minutes 

B. twenty minutes 
C. forty minutes 

D. fifty-five minutes

50. Which of these playing areas is possible?
 A. twenty metres by thirty-five metres 

B. twenty metres by forty-five metres 
 C. twenty-five metres by forty-five metres

D. ten metres by forty metres

***********************

UNIT 14: INTERNATIONAL ORGANIZATIONS

TEST 1

A. PHONETICS

I. Pick out the word whose underlined part is pronounced differently from that of the others.

1. A. cross 


B. soldier 

C. almost 

D. propose 

2. A. agency  


B. famine 

C. lack 

D. fact 

3. A. number 


B. such 

C. rule 

D. but

4. A. disaster 


B. despite 

C. prison 

D. hesitation 

5. A. appalled 


B. helped 

C. proposed 

D. injured
II. Pick out the word that has the stress pattern different from that of the others.
A. agency 


B. reduction 

C. disaster 

D. devoted

A. earthquake 


B. complete 

C. soldier 

D. nation

A. epidemics 


B. conference 

C. vulnerable 

D. national

A. president 


B. poverty 

C. survivor 

D. family

A. natural 


B. specialize 

C. headquarters 
D. volunteer

B. VOCABULARY AND STRUCTURE

I. Choose the most suitable word or phrase (A, B, C or D) to complete each sentence. 

11. Nina likes her new college, and is .........well. 
 A. getting on 

B. getting in 

C. getting at 

D. getting by

12. In this job you must ......... up to the problems and not run away from them.

 A. gaze  


B. face 

C. raise 

D. play

13. These figures show a ......... in the number of unemployed people in England and Wales. 
 A. loss 


B. reduction 

C. lessening 

D. lowering
14. The water company will have to........off water supplies while repairs to the pipes are carried out.

 A. set 


B. take 

C. break 

D. cut
15. We invited twenty people, but only five.........

 A. turned in 


B. turned out 

C. turned round 
D. turned up
16. A relief........has been set up to help earthquake victims.

 A. donation


B. treasury 

C. fund 

D. collection
17. When the Hubble Space Telescope focused for ten days on a dark patch of the sky size of a grain of sand, 
  what initially appeared to be empty space ......thousands of distant galaxies.

 A. turned out to be filled with 


B. it turned out to be filled

 C. turning out to be filled with 


D. and it turned out to fill

18. His business is growing so fast that he must take........ more workers.

 A. up 



B. over 

C. on 


D. out

19. On........to power the new President announced a programme of social reform.

 A. arriving 


B. reaching 

C. achieving 

D. coming

20. The rain seems to have get........for the evening.

 A. upon 


B. in 


C. about 

D. down

21. He told us to use our dictionaries to........anything we didn't understand.

 A. look out 


B. look for 

C. look at 

D. look up

22. It's essential to ......... the environment.

 A. protect 


B. prevent 

C. shelter 

D. restrict

23. The higher the content of carbon dioxide in the air, .........

 A. the more heat it retains 



B. than it retains more heat

 C. it retains more heat 



D. more heat it retains

24. The quantity of the phone signals has been improved through...... developments in digital technologies.

 A. reluctant 


B. recent 

C. remaining 

D. ready

25. I hope this headache........soon.

 A. goes out 


B. comes away 
C. wears off 

D. passes away
II. Choose the underlined part among A, B, C or D that needs correcting.
26. Melanie (A) felt hot (B) in the coat, (C) so she took (D) off it. 

27. The gang have (A) carried in (B) a number of (C) bank rails in the last (D) few months.

28. She wanted (A) to know (B) why I had (C) turned out (D) such a good offer.

29. (A) Why don't you (B) try out (C) that dress (D) in the window? 

30. You (A) have to (B) fill up (C) your name (D) and address.
III. Choose the correct sentence among A, B, C or D which has the same meaning as the given one. 
31. Let's pay a surprise visit to Julia while we're here.
 A. Let's drop in on Julia while we're here. 


B. Let's drop down Julia while we're here. 

 C. Let Julia have a surprise while we're here. 

D. Julia is surprised at our visit. .

32. I'm afraid that we haven't got any eggs left. 
 A. I'm afraid that our eggs are spoiled.


B. I'm afraid that we've run out of eggs.

 C. We have no egg to give you.



D. This is the only egg left.

33. Don't leave the lights on when you leave the school.
 A. You can leave but not leave the lights on.
     B. Don't turn off the lights when you leave.

 C. Turn the lights off when you leave the school.
     D. The school doesn't allow you to leave the lights on.

34. Marta is doing well in her English class.
 A. Marta speaks English well.



B. Marta likes her English class.

 C. Marta has made much progress in English.

D. Marta is getting on well in her English class.

35. Lidia spent her childhood in Uruguay.
 A. Uruguay is the place where Lidia was born.

B. Lidia grew up in Uruguay.

 C. Lidia had a memorable childhood in Uruguay.

D. Lidia was dedicated her childhood to Uruguay.

C. READING

I. Read the passage below and decide which answer (A, B, C or D) best fits each space.
THE UNITED NATIONS
 In 1945 leaders from 51 countries met in San Francisco, California, and organized The United Nations (often (36)........the UN). World War II has just ended. Millions of people had died, and there was destruction everywhere. People hoped they could (37) .......a future of world peace through this new organization. The main United Nations Organization is in New York City, but the UN has a family of its related organizations (38)........ the world. These organizations try to (39)........a better life for everyone. One example is UNICEF, an organization which provides food, medical care and many other services for poor children (40) ...... they live. Another example is the World Health Organization, which develops medical programs all over the world. There are thousands of UN workers in developing countries. They work as planners to (41).......production in farming and industry.

 They provide medical services, improve education programs, and (42)........scientific information. They develop programs that provide jobs and better living conditions. They help countries (43)........their population growth. The United Nations often holds large international conferences, where people meet to discuss important world (44)......... One conference was about the uses and ownership of oceans. Another was about women. There are also International Years. In these special years, people work together to improve situations and (45)........problems.

36. A. called 


B. known 

C. regarded 


D. noticed

37. A. build 


B. draw 

C. erect 


D. set up

38. A. through 


B. over 

C. all over 


D. all

39. A. provide 

B. offer 

C. dispense 


D. give

40. A. where 


B. wherever 

C. in which 


D. somewhere

41. A. arise 


B. increase 

C. rise 



D. go up

42. A. transfer 

B. pass 

C. cast 



D. spread

43. A. control 


B. test 


C. check 


D. hinder

44. A. themes 


B. topics 

C. issues 


D. subjects

45. A. do 


B. solve 

C. settle down 


D. deal with

II. Read the passage below and choose the best answer (A, B, C or D) to each question.

  Education is empowering. It strengthens individuals, families and communities. CARE believes that working to improve education is one of the best investments' we can make in the effort to overcome poverty. CARE seeks to ensure access to education, even in the most difficult circumstances and for the most vulnerable groups, such as refugee children and people living with HIV / AIDS. Because education has such a profound impact on both a child's and a society's future, CARE has made it a priority for the entire organization. CARE is working with partners at the local and national level more than 35 countries to improve the quality and accessibility of basic education - helping individuals and communities reach their full potential.

46. CARE seeks to ensure access to education for.........

 A. almost all refugees



B. refugee children

 C. people living with HIV / AIDS


D. refugee children and people living with HIV / AIDS

47. The word it in the passage refers to 
 A. education 


B. CARE  

C. access to education 
D. a society's future

48. The word impact in the passage is closest in meaning to.........

 A. result 


B. effect 

C. consequence 

D. affect

49. Why does CARE want to improve the quality and accessibility of basic education? 
 A. to reach their full potential



 B. to level social differences

 C. to help individuals and communities reach their full potential

 D. to work with partners more effectively 
50. According to CARE, which of the following is TRUE about education?

 A. Education is empowering.

 B. Improving education helps people overcome poverty.

 C. Education has a very great impact on both a child's and a society's future.

 D. All of them.
********************
TEST 2

I. Pick out the word whose underlined part is pronounced differently from that of the others. 
1. A. dedicated 

B. completed 

C. improved 

D. mounted
2. A. adopt 


B. advocate 

C. volunteer 

D. Colony

3. A. victim 


B. give 

C. president 

D. wartime

4. A. peace 


B. leader 

C. league 

D. headquarter

5. A. country 


B. without 

C. about 

D. found

II. Pick out the word that has the stress pattern different from that of the others.  

6. A. protect 


B. injure 

C. appeal 

D. commit

7. A. society 


B. official 

C. federation 

D. initiate 

8. A. livelihood 

B. example 

C. colleague 

D. natural 

9. A. improve 


B. victim 

C. survive 

D. react

10. A. temporary 

B. hesitation 

C. international 
D. Indonesian

B. VOCABULARY AND STRUCTURE

I. Choose the most suitable word or phrase (A, B, C or D) to complete each sentence. 

11. I........, but it was too big and the wrong colour.

 A. tried the coat on 

B. tried on the coat 
C. tried off the coat 
D. A or B
12. She isn't........well with the new manager.

 A. getting on 


B. going on 

C. keeping on 

D. taking on

13. I have ....... of complaints to make about this hotel so I wish to see the manager.

 A. a number 


B. an amount

C. a great deal 
D. many
14. He was wearing a heavy overcoat to ...........himself against the cold.
 A. conceal 


B. protect 

C. cover

D. wrap
15. Congress voted to........the new measures.

 A. get 



B. agree with 

C. adopt

D. come to
16. The car is old but reliable; so far it hasn't.........

 A. let me down 

B. let down me 
C. let me up 

D. let me through 

17. Walk down the, street ........ you get to the cross-roads.
 A. until 


B. when 

C. as far as 

D. unless

18. Many people with poor academic records .........to be very successful- in their careers.

 A. turn over 


B. turn out  

C. turn up 

D. turn in
19. Can you........me an effective way to stop smoking?

 A. instruct 


B. show 

C. advise 

D. suggest

20. When, the tenants failed to pay their bill,, the authorities decided to cut ........the gas supply to the flat.

 A. down 


B. out 


C. off 


D. across

21. He was disqualified for failing to comply with the........of the competition.

 A. principles 


B. measures 

C. laws 

D. rules

22. The government hopes to........its plans for introducing cable TV.

 A. turn out 


B. carry out 

C. carry on 

D. keep on

23. Sleeping, resting,........are the best ways to care for a cold.

 A. and drinking fluids 



B. and one drinks fluids

 C. which drank fluids 



D. and that drinking fluids
24. The Red Cross is an international humanitarian agency dedicated to........ the sufferings of wounded soldiers, 
 civilians, and prisoners of war.

 A. lessening 


B. lowering 

C. worsening 

D. reducing

25. The World Bank has criticized Britain for not giving enough financial ........to developing countries.

 A. allowance 


B. loan


C. provision 

D. aid

II. Choose the underlined part among A, B, C or D that needs correcting.

26. John said he had given up to play football years ago.

27. The United Nations, was set to settle conflicts peacefully.

28. I’m afraid that the car has been broken down.

29. We've ran out of milk, I'm afraid.

30. Please turn up the radio. I can't concentrate on my work.

III. Choose the one option (A, B, C or D) corresponding to the best sentence that is made up from the sets of words and phrases given.

31. I /need/ dictionary / look /word
 A. The dictionary is what I need to look at this word.

 B. I need a dictionary, so I can look up this word.

 C. What I need is a dictionary to have a look at this word.

 D. I need a dictionary to look for this word.

32. Robert /fill /form /give /personal details

 A. Robert had to fill in a form, giving all his personal details.

 B. Robert had to fill in a form to give him our personal details.

 C. Robert had to fill up a form giving all his personal details.

 D. Robert had to fill in a form gives all his personal details.

33. plane /take / hours / late 

A. Our plane took off late three hours.

B. Our plane was taken off three Hours late.

C. Our plane took off more than three hours late.

D. Our plane took off three hours more than late.

34. we /set / early /traffic
 A. We set off early avoiding the traffic.

 B. We set off early to avoid the traffic.

 C. We set off too early for the traffic.

 D. We set off early enough not to be stuck in the traffic.

35. car /break/ we /be /motorway
 A. The car broke down when we were on the motorway.

 B. The car was broken down when we were on the motorway.

 C. The car broke out when we were on the motorway.

 D. The car break down when we were on the motorway.
C. READING

I. Read the passage below and decide which answer (A, B, C or D) best fits each space.
 A strong and secure international community (36) ....... strong and effective international institutions. For all its (37) ....... problems, the UN remains an indispensable institution - a truly global forum in which the nations of the world can meet and deliberate. Because of its (38)........membership and comprehensive mandate, the UN is (39) .......... only institution capable of giving legitimacy to decisions taken by and (40)....... the international organization with expertise across such a wide spectrum. In the modern world, countries are increasingly interdependent and the challenges we (41)....... are global challenges: poverty; conflict; climate change; international crime; and the drugs menace. Consequently the United Nations should play a bigger (42)........than ever before. But first it needs to be modernized. The UN system is frequently criticized (43)........ being bureaucratic inefficient and inflexible. Much of this criticism is justified and Britain welcomes the iead (44) ' by the Secretary General in promoting reform. Member States must support the Secretary General's commitment to (45) ....... 
36. A. needs 


B. asks for 

C. wants 

D. requires

37. A. modern 

B. current 

C. moment 

D. now

38. A. general 


B. common 

C. universal 

D. popular

39. A. a 


B. an 


C. one 


D. the

40. A. instead of

B. ahead of 

C. on behalf of 
D. on account of
41. A. cope


B. face 

C. confront 

D. have
42. A. role


B. position 

C. scene 

D. action
43. A. for


B. of 


C. with 

D. to
44. A. created


B. enforced 

C. given 

D. held
45. A. modernize

B. modern 

C. modernized 
D. modernization

II. Read the passage below and choose the best answer (A, B, C or D) to each question.

 Oxfam is a charitable organization that existed since the early 1940s. It was founded originally to help feed starving children in European countries during the Second World War. Oxfam has been working in almost every country all over the world.

Oxfam funds relatively small-scale, relatively inexpensive but quite effective projects. Oxfam’s projects involve feeding starving children, providing, education for disadvantaged children, giving care and comfort to the poor the sick, rebuilding people's own lives, carrying out irrigation work, planting trees, clearing roads, building schools and hospitals. Oxfam pays special attention to many poor countries in the Third World, that's in Latin America, Asia, and Africa. Oxfam's money comes entirely from voluntary contributions from the general public.

46. Oxfam was found originally to help feed starving children in European countries.........

 A. before the Second World War 


B. after the Second World War

 C. in the Second World War 



D. in the middle of the Second World War

47. According to the passage, Oxfam is a(n) ........ .

 A. international voluntary organization 

B. international charitable organization

 C. national voluntary organization 


D. national charitable organization

47. The projects Oxfam funds are.........

 A. cheap and less effective 



B. relatively cheap but very effective

 C. relatively dear but less effective 


D. dear but quite effective

49. Oxfam's projects involve all of the following EXCEPT.........

 A. giving money to the needy


B. feeding starving children

 C. providing education for disadvantaged children
D. rebuilding people's own lives

50. The word starving in the passage is closest in meaning to........

 A. very hungry 

B. very exhausting
C. very tiring 

D. very miserable

***********************
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